Why Doesn't Gyro Bet on Even Numbers
When Playing Roulette? &

Factor completely each polynomial below. Find your answer and notice the two letiers next to it. Write these letters
in the two baxes at the bottom of the page that contain the number of that exercise.

(1) a-75 (0) six-4p CSF) six+3)?
(2) 52 +30x +45 CED) 2x- 127 QD) 2x-6f
(3) x*-40x | CHE) 30x+5)(x - 5} @H) ax+2)x-2)
(@) 22 -2mx 472 | (EA) xix+8)x-8 (D) xx+7)x=7)

OF & A (HE) 2K(k+2)(k=2)
(6) 542 - 24 ) (1S) 6(ak+1)(3k~-1)
(7) 5k + 100k* + 500K | 2k(k + 4)(k - 4) (OR) 3(2k-3p
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124" - 36k + 27 63k +2)(3 - 2) (TE) skik+8y’

) 7a% - 7ab* ob?(2a + 4)?
32a°h° + 16ab? + 2b° 4ab(a - 5b)’

(17) 4a°b - 40a* + 100ab’ a%b(2ab + 1)(2ab - 1) a’blab +2)(ab - 2)

19 4a't* - 2 (WA) 7abla +bj(a-b) (IN) 2b%4a+17
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